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Table Facts

Most children learn their “tables’” by heart.
Investigating number patterns makes that job easier.

You may think there are too many ‘‘tables’ to remember. . .
.. . but some of them are easy. . . like 10 x 10 = 100.

Use this card to find which tables you still need to learn. There are not as many as you think. . .!

Use worksheet 1390A.

I Fillin the table facts which you knew by heart.

... everybody knows ... you ought to know . .. most people know
the [ times table the 2 and 10 times the 3 and 5 times
table tables

LTS LI 5 R LR VYN MY R MU CV I P ) et [30 Jawr Lawr [sar Jawt [ra e [wo fiewd (T O LT T T O T I T
Haz [l [4m Fx2 (8l el (a1 P2 0x2 el fRet  {ExT {0 392 =2 EC S [TE R (T2 Rx %) 1 Ik [4m2 Ak fdwd |Tal ax2 a2 (LT
(LTSN 7S B P PP PR P I ) TR 021 nd 3 (121 Jaar |5 e Ted  [Be3 (#a1  [{ow} Jex  |2ad (et (el 16eF  (has 17a%  [8ed ivea el |
(2] a4 Iud [4xs ELCI (1] Tad [bud ud oud . Ind Zak lad fdud FECI (21 e (e (P4 Hhat Txd 14 Ik [4nd It {ens Tad [ees 9md 1084
s J2us [2e3 [ans [3as las [7a5 [exs [1as [ioas 1x5  [Ta$ 43a3  [4x3 323 [ex3  [7e3  [Bx8  |tad  [Wag T T T T O e T T Y T
e N N o Ind (kb Jaus  [4n6 [Swd [ené  [7es (fas -o[l’ﬁ';-' T T T T T e T T T T T
187 7 W1 n7 37 [T1 Te? 7 [E3] 107 r r 7 an? 327 b7 7T a7 Fal . {13kl 1x7 a7 hr aw? t 5] n? T (T34 "y 10x7
sk 110 [1an Laxt [san [axd [7x8 [sxB (920 102k R O O O N O T T w0 (208 Pyad laxd  [5u8 4md Ted [5ad (928 [fekd
L PR T PRI YR PR P TS [ [T I O O T OO CE O O LT COE ET T O O i T T (T FFTa I
N N R B EER L EE N CER T (T T S T T 2V U YT (I O T T I ET |p.-‘ w10 [at J4xi0  |Tam [8ai0 [#mi0 !ﬁe—

Can you see why the tables are in rows and columns?

2 Fillin the tables which you can work out.
...if youknow 10 x 4 =40 then 9 x 4 must be 4 less.
...if youknow 2x 7= 14 then 4 x 7 must be double.

3 Check your answers.
Shade the facts which you know by heart or you can easily. work out.

4 Getafriend to test you on the ones you have shaded.

5 Write out all the different table facts which you do not know.
...8x7=>56is probably one of them and so is 7 x 8 = 56, but they are the same.

6 Learn the table facts which you don’t know.



Smile Worksheet 1390A

Table Facts

Fill in the table facts which you know ... .. (questions | and 2)

Shade in the facts which you got right ... .. (question 3)

[ x| 2% 3x1 4x | S5x | 6x | 7x 1 8x I g%l 10x |
I x 2 2%72 3x2 4x2 52 6x2 7x2 8x2 9x2 10x 2
I x3 2x3 Bon 3 4x3 5% 3 6x3 7x3 8x3 9x3 10x 3
I x 4 2x4 3x4 4x4 5x 4 6x4 x4 8x4 9x 4 le4
Ix5 2x5 3x5 4x5 5x5 6x5 %3 8x5 9x5 I0x 5
Ix6 2x6 3x6 4x6 5x6 6x6 7x6 8x6 9Ix 6 10x 6
I x7 2x7 Ix7 4%7 ‘ Ex7 Gx 7l %7 8x7 2%y 0% 7
|8 2x8  |3x8  |4x8  |5x8  |6x8  |7x8  [8x8  |9x8  |10x8
9 2%9 3x9 4x9 5x9 6x9 7x9 8x9 9x 9 [0x 9
Ix 10 2x 10 3x10 4x 10 5x 10 6x 10 7x 10 8x 10 9x 10 [0x 10
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Smile 0066

You will need a set of Napier’s Rods.

Napier’s Rods

300 years ago people used a set
of Napier’s Rods to do simple
multiplication problems.

Follow the steps on the next page to
to find out how they worked.

o e,
\< | 7 ¥ ¥ onl 7
15 o 7
¥ 2N} 12 2 1 2 2 2
2 0 2,
1 2 2 2
g
E 3 04.5 5 540
9
b 2 X X N |2
3 - 3 & \
2 AN
A [\2 20 NG
< 5 7 2|7
4 3 1 SNzl N3 N\2
7 <

Ann Ronan Picture Library



To multiply 63594 by 7:

Place the rods in the correct order with the index rod at one end.

Write down row 7

4 2 3 6 2 :
2 / S 3 8 7

Add diagonally

4 /112 7113 7116 7|| 2
2.5 43 513 ]||/7 8
W S4B

Why?

So 63594 x 7 = 445158



Use rods 3 and 6 and the index rod to calculate:
L. 36 % 2 2. 36 x4 3.36 X 8

Use the correct rods to calculate:

4. 65 x 8 7. 1760 % 7 10. 9748 x 7
R L ) 8. 865 X 8 11. 1809 x 6
6. 365 X 6 9.:8375 x B 12. 18392 % 6

13. Have you noticed how the rods are designed?

61 e
The third square down on 1 2
rod 6 is
1 1
Why? . 8

N
E-Y

S
o)
@

©

14. Can you think of any multiplication problems which would
be difficult to do with Napier’s Rods?

Write down the problems and explain why they are
difficult.
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fMultlplylng Multlplylng =
'Multlplymg Multlplymg ;
jMultlplylng: Multlplymg ' |
‘Multlplylng Multlplymg 3 *
Multlplymg Multlplymg | |
iMultlplymg Multlplylng -
iMultlplymg Multlplylng
?Multlplymg Multlplymg -
Multlplymg Multlplylng' L
Multiplying Multlplymg .
TMultlplylng Multlplylng



or x 6 () 0g X 9 (9) e x9L(p)
1 X G () G x 9} (q) v x 61 (e)

'988Y] 10} sINo-loys pul4 ()
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(a8 L X800
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Then
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~ Tobe continued ...

@ Place all 37 cards face doWn on the table.

@ Turn over a card to be continued from. i e 2%
@ Share out {he rémaihing 36 cérds. 5 ‘

@ Take turns to place a card.

@ Your score is the total of any-new runs you can makél

- HOW TO'PLAY
533
ivdvd rdvdisy|
| - [28lolEl7]8
‘This player makes a run of & sevens L S22
and scores 35. :
BEBEl___[BeP
4717717 '5:,3 319
, 21819]i13 17181181811
This player makes a run of 3 eights ) 27'2
and scores 24.
533 5122
A 717717 [511813 19
218193[7 [8]1818!1
: Al 551212 A
This player scores 3 twos, 2 eights 214|5
and 3 fives. A total of 37, 31713




7|7

7

322
66 5
789
554

3 5 2

2 8 4

- O
M M N
M~ O
AN M
© O M
<T O W
O 00
S~ A o
N M N

556

1

994 6 6 6

288 554 322

3146 289 585

564 324

J 67 4|23

1

277 998

5/5/3 95 4 1

689 6 47



4

/7|8

11|14 9|8 6

2 47

112 7 8|8

338 254 322

9/3/6 5/3/3 8|81

433 2/5/2 244
5/9/9 3/5/6 6|78
4/5/6 g/6/2 565
8/2/6 384 337
8214 585 4,87




N4

1

7

1

3

4 5 6

992 7/8/3 511

348 282 7|26

243 436 943

9/9/71(3|8

266299

31216344

856 544 9gl1!1

753 6|78 9g/3/2



4
5

2
/

6
7

98 3

2 3

7 88
552

34 4

554

2 6 6

1

2 3 2
534
9 8 2




GELOSIA Smile 0174

There are many ways to do long multiplication. One method uses Gelosia.

To multiply 154 by 23 follow these steps:
(A) Copy this:-

/5 4

(B) Fill in the squares. Each time multiply the number at the top by the one at the side.
For example 5x3=15and 4 x2 =8

/| 5 4
8|2

(C) Add diagonally:-

2|/70|,/8
g

3152

3/4/4/2/

Why 52

Turn over



Try 1254 x 347 using the Gelosia method.

Some of it has been done for you.

| 2 5 4
5160523
yavavdvdr
AN

S S s

The answer to the problem above is 435138. When you understand how to use the
Gelosia method try these:-

) 367 x 33
) 243 x 36
) 723 x 42
) 428 x 26
) 2348 x 34
) 4767 x 28
) 369 x 472
)

;
2
3
4
5
6
7
8) 2307 x 294

(
(
(
(
(
(
(
(

If you think the Gelosia method will be useful and you want some more practice,
make up some problems with bigger numbers.
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Long Multiplication Revision

First of all examine what 264 is
multiplied by . . .. 37 . . . . that’s

thirty and seven

FIRST STEP — Multiply by 30.
The easiest way is to multiply by

10:0% 5

<. .. . and then multiply by 3

SECOND STEP — Multiply by
seven. NO PROBLEM IF YOU

KNOW YOUR TABLES!

THIRD STEP — Add your
answers to steps one and two

WHY DO
YOU WRITE
A NOUGHT ?

/S
X/10x3
THE SAME AS

x307?

NOW TRY THE
ONE OVERLEAF




4. 725
x 26

423 x26

MULTIPLY

First of all examine what 423 is
multiplied by . . . . 26 . . . . that’s
twenty and six

FIRST STEP — Multiply by

47 3
zohge

twenty. The easiest way is to
multiply by 10 . . .

i

BEE]

4 2z
R

. and then multiply by 2

473
X 26

SECOND STEP — Multiply by
six. NO PROBLEM IF YOU
KNOW YOUR TABLES!

7\

THIRD STEP — Add your
answers to steps one and two

7N\

NOW TRY
THESE FOUR

641 x 83
374 x 29
544 x 47
208 x 36
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More Calculator Problems

(1) Your heart beats an
average of 79 beats
per minute.
How many
beats per A

\
hour?

((3) A school serves an k
average of 134 dinners
per day.

How many dinners
does it serve in a year
of 281 school days?

(4) A woman earns £28 perw
hour as a computer
consultant. She works
seven hours a day for
seven days. How much
does she earn?
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((2) The ‘Le Mans’ is a 24
hour race. If a car
averages 179 km per
hour, how far does it
travel?

\

a year?

N ya

(6) How many minutes
in a year?

—
(7) There are 31 sweets

in a packet and 112

packets in a box.

A lorry carries 53
boxes.

How many sweets on
the lorry?

\

[(8) A book has an average
of 13 words per line
and 49 lines per page.
It has 267 pages. How
many words are in the
book?

fia )
(9) Tiles cost 19p each.
'‘How much do 157
tiles!cost?

(10) How many hours
have'you been alive?
(You do not have to
give an exact answer
— but the closer the
better)

v, ,y“;‘y/////}
=3/




Consecutive Product
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Consecutive numbers lie next to each other on the number line.

S

Example:
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4 5 2] 7 &
Examples:

6 and 7 are consecutive,
5, 6 and 7 are consecutive,
4 and 6 are not consecutive.

The product of two numbsers Is found by multiplying them together.

Exampile:

:
i
: i The product of 6 and 12is 72 because 6 x 12 =72
|
H
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42 is the product of two consecutive numbers.

6x7=42 { 6"
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1. Copy the following and find the two missing consecutive numbers.
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\ “Challenge!
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